Fruit Battery!
- Take metal 1 and metal 2 and put them in your fruit and read the voltage. It doesn’t matter if the reading is 0.00.

- Do all the combinations of metal 1 and metal 2 (there’s no need to do the grey areas)

- Answer the questions at the bottom into your books

	
	
	Copper

 (Cu)
	Iron 

(Fe)
	Zinc

 (Zn)
	Magnesium (Mg)

	Metal 2
	Copper 

(Cu)
	
	
	
	

	
	Iron 

(Fe)
	X
	
	
	

	
	Zinc 

(Zn)
	X
	X
	
	

	
	Magnesium (Mg)
	X
	X
	X
	


Does changing the metal make a difference?
Which metal combination gives the highest voltage?

Which fruit would you put this combination into to get the highest voltage?

How does your data support your conclusions?
Why don’t you need to do the grey areas of the table?
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